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a8 &t 276.000 102.00 108.00 :': :': :': (16.00) 4: (11.00 4: 1.501
TF 2400 T+ 6.00 T# 900 ((15.31) T4 1220 [(10.19) T 7.10

DMaMfiE ERAE

(AvoRILN-RREAEIAT () T)

D I a—3At& R HE Al

D I a-3B(HE A HE Il

£+
T

£¥
T

L=9.0m
L=9.0m

L=9.6m
L=122m

(BYIRILL-FTEBRX I+ THR—I2T)
DIIa—1(RE4HIEAI)
¥
T

L=24.0m
L=24.0m

(BYIRILESEARTATR—IY)
D I a—2(H& R HE 1))
e
T

L=10.3m
L=13.1m

X ()RBER.;IMAZEET,




sl g = =
BB =55 X NEEEE 2-13E
mUYKEFX 12-1 B8
N E 71N =1 i 8 7IN =X 0 3
b om | m = ij‘%&)_ﬁ \%iﬁiziz’(m )E ”%jfujftim ) _ B
m mYHE| B = mBYE=E| B =
¥ 102.00 40.033 4,083.4 41.921 4,275.9
(*%C*,%,;;%.D T 102.00 10.562 1,077.3 11.086 1,130.8
B 5,160.7 5,406.7
a2 108.00 40.753 4,401.3 42.662 4,607.5
(*&D*,é*ggu) T 108.00 10.764 1,162.5 11.288 1,219.1
B 5,563.8 5,826.6
a2 24.00 43.070 1,033.7 45.041 1,081.0
(*ﬂgfg&%m T 24.00 11.258 270.2 11.784 282.8
B 1,303.9 1,363.8
¥ 6.00 43.070 258.4 45.041 270.2
(*gggz%éu) T3 600 | 11258 675 | 11.784 70.7
B 325.9 340.9
¥ 9.00 43.766 393.9 45.775 4120
(%}fﬂg@) T3 900 | 11258 1013 11.784 106.1
B 495.2 518.1
¥ 9.60 43.766 420.2 45.775 4394
(%}fﬂﬁﬁ) T 12.20 11.258 137.3 11.784 143.8
B 557.5 583.2
¥ 4.30 43.070 185.2 45.041 193.7
(é&?}égu) T 7.10 11.258 79.9 11.784 83.7
B 265.1 277.4
Hwaest 13,672.1 14,316.7




Wwitas o) — M EEET R HEEEF  2-1 58
mYYEIE 12-2 S8
WAt E B m m B |[HNREEM)| mIBYKE | H = W =
L 102.00 14.012 1,429.2
CIo-b e
10cm (AT TF 102.00 4.036 411.7
5 1,840.9
3 108.00 14.012 1,513.3
DI-b "
15¢cm (AR ) T 108.00 4.036 435.9
B 1,949.2
3 24.00 14.169 340.1
DIMa—-1 o
25cm (AT ) T3 24.00 4.036 96.9
5 437.0
3 6.00 14.169 85.0
250m DIlla-2 T 6.00 4.036 24.2
(HEARIRAI) - i -
5 109.2
3 9.00 16.949 152.5
DIIa-3A e
25cm (R T 9.00 4.036 36.3
5 188.8
3 9.60 16.949 162.7
DIIa-3B N
25cm (R ) T 12.20 4.036 49.2
5 211.9
3 4.30 14.169 60.9
25cm DIla—4 T 7.10 4.036 28.7
(REHAEEI) : : -
5 89.6
wEst 4.826.6




Ay RILML=3.0m B EESTE

SNRIERIT 2-1 5818
B YEEIE 8~11 SHg

v m | m m |FRER| EvF |EFLY| B & | ## =
(m) (m) () () () ()
L 102.00 1.20 11 935 | — 935
(%C*,%E%.D e 102.00 1.20 4 340 _ 340
8 1,275 1275
£¥F 108.00 1.00 —
<%Dba§¢1;;%u> T 108.00 1.00 —
£ 24.00 1.00 0 —
DIMa-1 .
(iehtamA) | T 24.00 1.00 ol —
5 0
¥ 6.00 1.00 —
DIla-2 -
(AR IR ) T:* 6.00 1.00 —
¥ 9.00 1.00 —
DIIa-3A —
C L) T:* 9.00 1.00 —
L# 9.60 1.00 —
DIla-3B =
D) ks 12.20 1.00 —
¥ 4.30 1.00 —
DIla-4 —
(R AR IR 1) T\_* 7.10 1.00 —
W& |L=3.0m(fit71176.5kNLL E) 1275




Ay RILMNL=40m) B EEET R

b

SNRIERIT 2-1 5818

FRTNYEEE 8~11 SHg
B O&E mo%E HEER EvF ERTHY M= 8B R Hi
= (m) (m) (&) (&) (&) (&)

3 102.00 1.20 0 0 —

(%omu*g%“) T¥ 102.00 1.20 0 0 —
3 108.00 1.00 11 1,188 - 1,188
( %D*,%,}H%,D T3 108.00 1.00 4 432 — 432
B 1,620 1,620
¥ 24.00 1.00 96 — 96
(ﬁﬁ%%ﬂ) T3 24,00 1.00 9% | — 96
B 192 192
3 6.00 1.00 24 — 24

DIla-2 e

(R R BI) T 6.00 1.00 24 — 24
B 48 48
3 9.00 1.00 36 — 36
( %%JZTE:;Q) T 9.00 1.00 36 — 36
B 72 72
L+ 9.60 1.00 38 — 38
( %%ﬂ};% T 12.20 1.00 49 — 49
B 87 87
it 430 1.00 2 9 — 9
(#%E#Iﬁ[jz?&_';u) T 7.10 1.00 2 e 14
B 23 23
HwaEE L=4.0m(fit 77176 5kNLL E) 2,042
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Y R 2 AL 6-2~4 B
v | BERTE | BAIHY | =
it | \ - = ==
SEAS T+ THR—1J 4 [L=30m sD345 D25| K 160
I4+7 JYALD | ke 1600 [  300| 4,8000 |>¢1AHY
K=oy :
R—=Uv7 B 7L 60 m 1600 [3% 3.0 4800 [X1A %Y
TATR—H | =128m 1148 =a2mm| K 21
EREE — - _
77/1%0‘)/7‘ ik ALY | ke 21.0 | 3% 149.0 31290 |X1AKHY
- .om
Hil FL $125 m 210 |% 125 2625 [X1AR KLY
TATR—2 S [=05m p1143t=42mm| K 21
EREE — - _
7*Z’§§'J>’7 ik SYALTY | ke 210 [% 1130 23730 |X1AKHY
=J.om
Hil FL $125 m 210 | % 9.5 199.5 [3¢1AHY
Eﬁﬁﬁ#ﬁﬁﬁ TATR—1) 24 |1=135m 6763 t=4.2mm
RILk R IBOE/LAZIL 80 |% 1250 1,000.0 [X1AHY
(L=13.5m) SIED b 90 80 132 105.6 |14 1)
Eﬁﬁﬁ#ﬁﬁﬁ TATR—1) 24 |L=105m $763 t=4.2mm 8.0
RILE R IBOE/LAZIL 80 |% 950 760.0 |X1A %Y
(L=10.5m) SIED b 90 80 102 81.6 |1AHY
mEaT [ TR |msom 1143 =iz K 74.00
(LT 34 ik JYALD | ke 740 | % 66.000 [ 4,884.0 1AL
L -
) Hil FL $125 m 740 | % 550 407.0 [1ARHY
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FEARTATR—) T HEERE REEEIL 2- 1 BHE

" w | HERER| EvF | ERAHY | B 2 B Hi
SO N S (m) (&) *® | & (%)
DIIa-2 b 0 _

(A ) ==I= 6. 1.00 15.5 93 93
(L=3.0m) & 93 93
DIMa—4 e 43 _

(R ) ;h 1.00 155 67 67
(L=3.0m) B 67 67
WA E L=3.0m(747#"—Y)»4" SD345 D25) 160
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RREEIAT /A1) 7 (L=125mBE K ET &R

SNRIERIT 2-1 5818

v = | om = |NEER| EvF |EmmY | ME | ®om | &
= (m) (m) () (& (X) ()

DIla-3A b 9.0 9.00 21.0 21 - 21

(RN |——

(L=12.5m) A 21 21

wEEt ERMEI+T7 /81125 (L=12.5m) 21
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ERMEIATINAI T (L=95mEEEETR

SNRIERIT 2-1 5818

o o = | NRER EvF | &Y | &% 8 | # #® =t
= (m) (m) () (& (X) ()
DIla-3B JES 96 9.60 21.0 21 — 21
(BRI A —
(L=9.5m) A 21 21
HEET RRMEIA+T/3401) % (L=9.5m) 21
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ERBHEERILNL=13mMEETR HEEEIE 2-1 BE
v m | s |WEEE| EvF |mmHY | % E | ®E | &
= (m) (m) () (&) (&) (&)
DIla-3A - 9.0 9.00 8.0 — 8
CtARED) |
(L=13.5m) 5 8
wast | RREMWAENRILNL=13.5m) 8
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EREMEERILNL=10mMEEST R HEEEIE 2-1 BE
w m | om x |HRER| EvF |@muY| % E® | #E® |
= (m) (m) () (&) (X) (&)
DIlla-3B - 96 9.60 8.0 — 8
(R AEH) :':
(L=10.5m) A 8
wast | RR&EWENRILNL=10.5m) 8
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RIERETR T(Ly T /(I B E KT R HRERIE 2- 1 BE

v m | om w |NRER| £vF | @EmLY | 88 | B @ |
= (m) (m) (&) (&) (&) (&)

DIla-3 2 18.6 1.00 40 74 — 74

(HEARIEHI) -

(L=5.5m) a 74 74

wEEt MIER 4R T(Lv T 781 JL) 74
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EWMIM=EEREETR szEsz 2-13E
mBYMEX 12- 3 S

W @& MRIER NEDE H = B R Hi

(m) (m%/m) (m?) (m?) (m?)
CIO-b(BEMHERD | LT3 1020 0.000 0.0 — 0.0
DI -b(HtHiERD | L% 108.0 14.326 1,547.2 — 1,547.2
DITa—1 (BéMEHERI) | ETF 240 18.832 452.0 — 452.0
DIMa-2 (#4RIEHI) | LT3 6.0 18.832 113.0 — 1130
D IMa—-3A (BEMHEAI LT3 9.0 19.121 1721 — 1721
D IMa-3B (B HEEI) £ T+ 9.6 19.121 183.6 — 183.6
DIMa-4 (44K IEHI) | LT3 43 18.832 81.0 — 81.0
Hwast 2,548.9
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7 —FRXRIBERHR

SREEE  2-1 B8R
B A= TR | e | (e
C I -b(HEMHEHI) | H-125% 125 102.0 1.20 85| 342.9kg/E
D I -b(HE#HEHEI) | H-125% 125 108.0 1.00 108 | 451.8kg/&E
DIMa—1 (4 HERI) | H-200 x 200 24.0 1.00 24| 984.0kg/E
DIMa-2 (#MHEHI) | H-200 x 200 6.0 1.00 6| 984.0kg/E
D ITa—3A (4R HEHI) H-200 x 200 9.0 1.00 9| 1,126.5kg/%
D ITa—3B (H#4RHEHI) H-200 x 200 6.044 1.00 6| 1,126.5kg/%
D ITa—3B (H#4RHEHI) H-200 x 200 9.956 | 0.50~1.00 13 [15,073.1kg/13%
(R AR OERD)
DITa—4 (HEMEHEAI) | H-200 x 200 1.663 1.00 2| 984.0kg/E
DIl a-4 (HEHEAEAI) | H-200 x 200 9.337 | 0.50~1.00 12 |12,165.9kg/ 12
(/AR O E)
REE 265

#HER) = dRER / EVTF
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K I#HEEEER sgEsx 2138

mEYHEE 12-4 B8

& MRIER m%i)*ﬂ% # 2% 12 2;’1& ‘+2

(m) (m"/m) (m) (m) (m°)
C I -b (A& IEHE) 102.0 18.048 1,840.9 — 1,840.9
D I -b (#&AEHEI) 108.0 18.048 1,949.2 — 1,949.2
DIMa—1 (BEAREAI) 24.0 18.205 436.9 — 436.9
DIMa-2 (KM HEAI) 6.0 18.205 109.2 — 109.2
D IMa-3A (Bt IR Al 9.0 18.205 163.8 - 163.8
D M a—3B (AR Al 9.6 18.205 174.8 — 174.8
DIMa-4 (FEHHEAI) 43 18.205 78.3 - 78.3

A DI=[ 529 m

et 4,753.1
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BEIa VY )—MIEEER WNEEEE 2~ 1 B8
(7—F) mEYKEIE  12-5 SR
. NEEE NEDE & # =2 1R it
(m) (m®/m) (m®) (m®) (m®)

CI-b NET 102.0 5.274 537.9 — 537.9
(BEMAERD | pay 102.0 6.727 686.2 — 686.2
DI-b NET 108.0 9.225 996.3 — 996.3
(BRARIEHD | pay 108.0 11.154 1.204.6 — 1,204.6
DMaei | NET 24.0 10.664 255.9 — 255.9
(BEMIERD [ pay 24.0 12.620 302.9 — 302.9
DIMa- | NET 6.0 10.664 64.0 — 64.0
(BARIEHD | pay 6.0 12.620 75.7 — 757
DMa-3a | NET 9.0 10.664 96.0 — 96.0
(BEMAEAD | pay 9.0 12.620 113.6 — 113.6
pIass | NET 9.6 10.664 102.4 — 102.4
(BRIEHD | pay 9.6 12.620 121.2 — 121.2
DMaa | NET 43 10.664 459 — 459
(BEMAEAD | pay 43 12.620 543 — 543

DII= 52.9
NET 2098.4

WEeEt

PAY 2558.5
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BEIXRYEER HREEE 2-1 B8
(7—7F) 2 HEKEL 12-6 S8
o ﬁ%m%ﬁ m%b)*ﬂ; T (m;';z & i
C I -b (B HEA) 102.0 17.109 1,745.1
D I -b (B HEAID 108.0 18.038 1,948.1
DIMa—1 (M HER) 240 18.039 432.9
DM a-2 (AR R 6.0 18.039 108.2
D I a-3A (4 HE I 9.0 18.039 162.4
D I a—3B (t s 12 Al 9.6 18.039 173.2
DM a—4 (A HEH) 4.3 18.039 77.6
A DII= 52.9 |m
wast 4,641.5
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ALY _l_ sle E E’_—

Hu#les —EX
(1) #& Al (B2 m>/m)

oAl {8 EX & 45y £ % T % A2 1N\—k B m E

co-p | NET — 40.033 10.562 — 50.595
(BARIERD | pay — 41.921 11.086 — 53.007
DI-p | NET — 40753 10.764 8.526 60.043
(RAIEHD [ pay — 42.662 11.288 9.001 62.951
D@ai | NET — 43.070 11.258 9.058 63.386
(BARIERD | pay — 45.041 11.784 9.548 66.373
DMap | NET — 43.070 11.258 9.058 63.386
(RAIEHD [ pay — 45.041 11.784 9.548 66.373
DIa-3a | NET — 43.766 11.258 9.058 64.082
(BARIERD | pay — 45775 11.784 9.548 67.107
DMa3g | NET — 43766 11.258 9.058 64.082
(BAIEHD [ pay — 45.775 11.784 9.548 67.107
DIa4 | NET — 43.070 11.258 9.058 63.386
(BARIERD | pay — 45.041 11.784 9.548 66.373
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(2) M{Fars')—k

(BA{E : m?/m)

Bl B £ F T ¥ | (42—t & i =
C Il -b (B¢ AEAI) - 14.012 4.036 - 18.048
D I -b (H4IEAN) - 14.012 4.036 - 18.048
DIl a—1 (B4R AEAI) - 14.169 4.036 - 18.205
DIMa-2 (AEARAEAI) - 14.169 4.036 - 18.205
DITa-3A (#&4R1EAI) - 16.949 4.036 — 20.985
DIMa-3B (#&4REAI) - 16.949 4.036 — 20.985
DIMa-4 (AEARAEAI) - 14.169 4.036 - 18.205
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BN E— KR
(3) & 13 (BAL:m”/m)
i fa B2 LEm i T #F H wm =
C I -b (HHHEAD — 0.000 — — 0.000
D I -b(#EtHEH]) — 14.326 14.326 — 14.326
DIMa-1 (#4 R A — 18.832 14.797 4.035 18.832
DIMa—2 (#4HHEHEI) — 18.832 14.797 4.035 18.832
DIMa—3A (Rt A — 19.121 15.086 4.035 19.121
DIMa—3B (#iHEAEl) — 19.121 15.086 4.035 19.121
DIMa—4 (45 HEHE) — 18.832 14.797 4.035 18.832
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(4) BhKI—b (B4 L : m*/m)
E Al B B T £ # T # B wm =

C I -b (Bt EHI) — 18.048 14.011 4.037 18.048

D I -b(HEHiEH) — 18.048 14.011 4.037 18.048

DIIa—1 (B4R AEHI) — 18.205 14.169 4.036 18.205

DIla-2 (BEHAEHI) — 18.205 14.169 4.036 18.205

DITa-3A (BE#RAEH) — 18.205 14.169 4.036 18.205

DITa-3B (B AEH!) — 18.205 14.169 4.036 18.205

DIl a—4 (BEHRAEHI) — 18.205 14.169 4.036 18.205
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s _l_ sle E E’_—
BERNME-—EBER
(5) BIavy)—k (B :m®/m)
# Al 8 B 7—F AN —k m E
CI-b NET — 5.274 — 5.274
(RARIEHD | pay — 6.727 — 6.727
D1 b NET — 5.238 3.987 9.225
(BEMAERD | pay — 6.692 4.462 11.154
DMa—i | NET — 6.127 4537 10.664
(BRARIEHD | pay — 7.593 5.027 12.620
DMa—s | NET — 6.127 4537 10.664
(BEMAEAD | pay — 7593 5.027 12.620
Da3a | NET — 6.127 4537 10.664
(BRARIEHD | pay — 7.593 5.027 12.620
Daag | NET — 6.127 4537 10.664
(BEMAEAD | pay — 7593 5.027 12.620
DMad | NET — 6.127 4537 10.664
(BRIEHD | pay — 7.593 5.027 12.620
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BEU#HE—ERX
(6) BT R (BEAE - m®/m)
B B T—F A2 —h i =
CI-b N — 17.109 — 17.109
(BHIERD | 245 — - -~ 0.000
DI-b RN - 16.747 1.291 18.038
(RHIEAD | 245 . —~ 3.987 3.987
DIla-1 i - 16.710 1.329 18.039
(BHIEAD | 245 - - 4537 4537
DIIa-2 NE — 16.710 1.329 18.039
(BEMIERD | 245 — — 4.537 4.537
DIa-3A | M - 16.710 1.329 18.039
(BHIEAD | 245 - - 4537 4537
DIIa-38 | MM — 16.710 1.329 18.039
(BEMIERD | 24 — — 4.537 4.537
DIla—4 | NE - 16.710 1.329 18.039
(BHIEAD | 245 - - 4537 4537
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13—2 MRBHmHBERIR

HRERE 13-1 S8
HifEd 13-3 38R

5 5 RRER 7—Fke) it

m  1osmuy| % 2 (ke)
D19 49.80 2,147 10,183 10,183
REEED D16 49.80 948 4,496 4,496
&t 14,679
D19 10.5 1,821 1,821 1,821
E;g{ D16 10.5 651 651 651
H 2,472
D19 10.5 1,839 1,839 1,839

& sl

Hinghge D16 10.5 663 663 663
H 2,502
D19 13,843
REEt D16 5,810
H 19,653
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13—3 HfulYHE

(1) 1R#ER
TFHHBHEER (SD345) (10.500m% Y)
25 &8 R T R M BEEHEE 1FALYEE | H B | z
C1 D19 10000 53 2.25 22.50 1193 ("
c2 " 8000 53 " 18.00 954 N
H1 D16 10300 59 1.56 16.07 948 —
D19 2147 ke
D16 948 ke
i 3005 ke
()= A5 AL
BRekArE 28K (SD345) (10.500n% Y)
i % & & S A B | BLHEE 1KZYEE B E | W 3
c1 D19 10000 28 2.25 22.50 630 .
c2 " 8000 33 " 18.00 594 A
c5 " 11000 13 " 24.75 322 .
c6 " 8500 13 " 19.13 249 A
c9 " 2870 4 " 6. 46 26 —
H3 D16 7080 59 1.56 11.04 651 —
D19 1821 ke
DI6 651 ke
o 2472 ke
(3) RAIL O
7—FEHKBEER (SD345) (10.500m2%4 1))
2B B | R T X H (B HEE 1A4YEE | H E | z
C1 D19 10000 28 2.25 22.50 630 e
c2 " 8000 34 " 18.00 612 A
c5 " 11000 13 " 24.75 322 e
c6 " 8500 13 " 19.13 249 A
€9 " 2870 4 " 6. 46 26 —
H5 D16 7200 59 1.56 11.23 663 —
D19 1839 kg
D16 663 ke
B 2502 ke
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14—1 AUN—MEEIMEESR

WMRERIE 2-1 358
mEYBEIZ 12-1 BHE
+ % 7 LEEFET(MY) KEEL (M)
@ | omo g |MRERL RESTT L FHEDT o o=
m mBYEE| 1 22 mBYE=E| B =
CIo-b . e
DI-b .
Gt | 1275 108.0 8.526 920.8 9.001 972.1
DIla-1 o e
N A 24.0 9.058 217.4 9.548 229.2
(*ﬂgfgz%ém A In—k 6.0 9.058 54.3 9.548 57.3
(*%%fg@) A n—k 9.0 9.058 815 9.548 85.9
(%11&%3% A1 —k 16.0 9.058 144.9 9.548 1528 | siEATEES
D]]Ia—4 N S i—l— At
G | 175+ 11.0 9.058 99.6 9.548 1050 | iFTE&E
DII= 66.0 |m
DI=| 1020 |m
DI=| 1080 |m
et 15185 1,602.3

_3"_




14—2 AU N\—baV P )— MIEKTE

MRIERIT 2-1 881
mEYKEIE  12-5 SR
W5 MRIER NEDE & # =2 1R it
(m) (m%/m) (m%) (m®) (m®)
CI-b NET 102.0 — — —
DI-b NET 108.0 3.987 430.6 — 4306
(BEMAEHD | pay 108.0 4.462 4819 — 481.9
— NET 24.0 4537 108.9 — 108.9
(BRIEHD [ pay 24.0 5.027 120.6 — 120.6
D@a—2 | NET 6.0 4537 272 — 272
(BEMAEAD | pay 6.0 5.027 30.2 — 30.2
Da-3a | NET 9.0 4537 408 — 408
(BIEHD [ pay 9.0 5.027 452 — 452
DMa3s | NET 16.0 4537 72.6 — 72.6
(BEMAEAD | pay 16.0 5.027 80.4 — 80.4
DIaa | NET 11.0 4537 499 — 499
(BRIEHD [ pay 11.0 5.027 553 — 5523
DII= 66.0
DI = 102.0 [m
DI-= 108.0 m
o NET 6075 607.5
wBest
PAY 677.9 677.9
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14—3 AVN—FRIRHERER

HMRERIE XRE BB
mBYHEIL 12-6 S

W& SRE R & (m?) £ R M) s =

@) |rrruygmeE] & 8 |rFRuvgE % =

CI-b o B B B

(B i)

DI-b

(Ml A AR 1)) 9 — 3.987 35.9

DIMa—-1

(AR ) 2 — 4537 9.1

DIMa-2

(MR 0 - 4.537 00

DITa-3A

(KA AR 1)) 1 — 4537 45

DIla-3B

(HERR AR I 2 — 4537 9.1

DIla—4

(REHRAR ) 1 - 0.0

DII= 66 A DII= 22.7 [m2
DI= 108 22.7m2/66m=0.344m?2
NDI= 35.9 |[m2

35.9m2/108m=0.332m2

N 58.6
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14—4 A N—MMERBHRERNR

HRERE 13-1 S8
HEUHEEF 14-6 BB
5 5 WNEEE A2 13—k kg) =t
m)  [1osmuy| % & (ke)
D19 49.8 1,312 6,223 6,223
REEED D16 49.8 466 2,210 2,210
&t 8,433
D19 10.5 1,230 1,230 1,230
E;g{ D16 10.5 357 357 357
H 1,587
D19 10.5 1,237 1,237 1,237
& sl
Hinghge D16 10.5 357 357 357
H 1,594
DII 1.587+1.594=3.181t
3.181t/66m=0.048t/m
DI 8433t
8.433t/108m=0.078t/m
D19 8,690
REEt D16 2,924
H 11,614
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14—5 BfIMYHE

(1) 1ZHEER
A N— FEEFEER (SD345H) (10.500m% )
= 2| &2 |E (X ¥ | BHMHEE 1A4YEE | H g | & =
c3 D19 6500 53 2.25 14.63 775 —_
c4 " 4500 53 " 10.13 537 “
H2 D16 10300 29 1.56 16.07 466 -
D19 1312 ke
DI6 466 kg
1778 ke
(2) & Az aEs
A oN—FERmEER (SD345) (10.500m2% 1)
% 5 # F3 & X ¥ BN EE 1KXZEVEE | H g i E:3
c3 D19 6500 28 2.25 14. 63 410 _
c4 " 4500 34 " 10.13 344 -
¢7 " 7500 16 " 16. 88 270 _
cs " 5000 16 " 11. 25 180 -
c10 " 2850 4 " 6. 41 26 —
H4 D16 7890 29 1.56 12. 31 357 -
D19 1230 ke
D16 357 ke
#1587 ke
(3) ¥ m Az O &R
4 oNnN— B mEER (SD345) (10.500m Y )
22| &8 |& X ¥ R HEE 1XLYEE | E B | & E
€3 D19 6500 29 2.25 14.63 424 _
¢4 " 4500 34 " 10.13 344 -
c7 " 7500 16 " 16. 88 270 _
c8 " 5000 16 " 11.25 180 -
c10 " 2850 3 " 6. 41 19 —
He D16 7890 29 1.56 12.31 357 -
D19 1237 ke
D16 357 kg
% 1594 ke
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14—6 AUN—MERIHMSEHE

HERERE  2-1 58
mBVEEIE 14-8 SR
" HERER | mBYHKE s = s
o\ (m) (m®/m) (m®) (m®) (m®) R
CI-b
L) 102.0 0 00| - 00
DI-b
D 108.0 4628 4998 —~ 499.8
RN 240 4628 111.1 —~ 111.1
e 6.0 4628 27.8 - 278
(R 9.0 4628 417 - 1.7
AR 160 4628 740 - 740
ey 110 4628 509| — 50.9
fast 805.3
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14—8 AVN—rREBEHEETE

HRERIE  2-1 58
mUYUBEE  12-6 BB

(#&%C#ﬂrz[ﬂ%ut%m 102.0 0.000 0.0 = 0.0

) 108.0 1.291 139.4 _ 1394

RN 240 1.329 31.9 - 319

(éﬁ%gj) 6.0 1.329 8.0 — 8.0

(gﬁﬁagﬁ) 9.0 1.329 12.0 — 12.0

AR 16.0 1329 213 _ 213

(#E*%?Jégll) 11.0 1.329 14.6 — 146

Mwast 227.2

_37_




15—2 HIKIERRE

NEEHKIER
COI-b(##) L1 = 10200 X2 = 204.0
DI-b(i%#) L2 = 108.00 X2 = 216.0
DIMa-1(#4) L3 = 2400 X2 = 48.0
DIla-2(#4E) L4 = 600 x2 = 12.0
dMa-3A(H4, LD = 9.00 x2 = 18.0
dMa-3B(#EHE, L6 = 1531 %2 = 30.6
DIMa-4(#kE) L7 = 10.19 %2 = 20.4
i = 5490 m
2)hRPKEER
CI-b(##) L1 =102-05X%X2 = 101.0
BT
DI-b(##) L2 = 108-0.5X%X2 = 107.0
BT
DIla-1(#4%4%) L3 = 24-0.5X0 = 24.0
BHRE
DIMa-2(#4) L4 = 6-0.5X0 = 6.0
BHRE
dMa-3A (K, L5 = 9-0.5X 1 = 85
EHRE
dIMa-3B (44, L6 = 15.31+0.69-0.5 X = 16.0
M R
DIla-4(#4) L7 = 10.19+0.81-0.5 = 10.5
WM S
=t = 2730 m
3) R EEKITEHE]- D)L 2 —HIER
CI-b(##) L1 = = 102.0
DI-b(##) L2 = = 108.0
DIMa-1(#4#) L3 = = 24.0
DIla-2(#4) L4 = = 6.0
dMa-3A(HEH, L5 = 9.0
JIMa-3B (#, L6 = 15.31+0.69 16.0
HiFg
DIla-4(#4) L7 = 10.19+0.81 = 11.0
HiFg
it = 2760 m
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4)AEER
a) BEEHI-BR
R X (FAB2 A£-2.000% £H+2.000%)

DIMa—4 (#48) L = 10.192+0.808 = 11.000
1P
DITa-2 (#4#) L= = 6.000
DIMa—1 (#44H) L = 16.000-1.0 X 1 = 15.000
ok
D I b (¥4H) L= = 45.000
C T b (#4) L = 102.000-1.0x 3 = 99.000
ok
D I —b (#48) L = 63.000-1.0 X 1 = 62.000
ok
DIMa—1 (#44H) L= = 8.000
DM a—3A (R4, L= = 9.000
DM a—-3B (B4, L = 15.307+0.693 = 16.000
1P
& &t = 271.000
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b) AliEARAT

CIO-b(i#) L1 = (102-1.0 x 3) x 2(f1Al) = 198.0
£ K bt
DI-b(#) L2 = (108-1.0x 1) x 2(fEl) = 214.0
Y
DITa-1(4%H) L3 = (24-1.0 x 1) x 2(7&Al) = 46.0
£ K bt
DIMa—2(##) L4 = (6-1.0x0) x 2(H1a) = 12.0
£ K bt
dMa-3A(#H, L5 = (9-1.0 % 0) x 2(f4l) = 18.0
£ K it
dMa-3B(##H; L6 = (15.31+0.69-1.0 X 0) x 2 (fEl) = 320
P9 ki
DIa—4(#4H) L7 = (10.19+0.81-1.0 x 0) x 2 (7l Al) = 22.0
P9 ki
Hi L= 542.0 m
5) A IR
CO-b(##) L1 = (102-1.0 % 3) x 2(7{al) = 198.0
£ K i
DI-b(H) L2 = (108-1.0x 1) x 2(fEl) = 214.0
£ K i
DIa-1(##) L3 = (24-1.0 X 1) x 2R {8 = 46.0
EY N
DIIa-2(#4H) L4 = (6-1.0 X 0) x 2(iE ) = 12.0
EY N
dMMa-3A(#HE, L5 = (9-1.0 X 0) x 2(wal) = 18.0
EY N
JIMa-3B (#&#4, L6 = (15.31+0.69-1.0 X 0) x 2 (fj4Al) = 32.0
P ki
DIa—4(#4) L7 = (10.19+0.81-1.0 x 0) x 2 (7Eal) = 22.0
P ki
Hi L= 542.0 m
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6) 1M HEK T

7)ERE

8) &Kk it

CIO-b(H#) nl 2
DI-b(##) n2 2
DIla-1(#4) n3 0
DIla-2(##) n4 0
dDMa-3A(##H. nd 1
dMa-3B(##, nb 0
DIla-4(¥4%) n7 1
&t n 6 EFT
CO-b(##) nl = 2
DI-b(##) n2 = 2
DITa—1(##) n3 = 0
DMMa-2(##) n4 = 0
dIMa-3A(HH, nd = 1
dMa-3B(#H. nb6 = 0
DIla—4(##) n7 = 1
) n 6
COI-b(##) nl = 3 X2 6
DI-b(##M) n2 = 1 %2 2
DIMa—1(##) n3 = 1 X2 2
DIMa—2(##) n4 = 0 x2 0
dMa-3A(HEHE, nd = 0 x2 0
dMa-3B(#H. nb6 = 0 x2 0
DIMa—4(#M) n7 = 0 x2 0
&t 10 &

_4‘|_



15—3 HKIMEEHR

WREE(E 15-2~4 S8
mYUElE 15-7~15 S8

Tom | om o | mom |ae TRER)SESY g w om
EEHKT |EEELIIFLVE @75 m 5490 |% 100 549.0 |>3¢10m¥ L)
CH-b(###) | m° 102.0 [ 3¢ 4.800 48.960 [3¢10mZY
DI-b(HtH) | # 108.0 | % 4.800 51.840 [3%10mZL)
DIMa—1(HMH) | 240 | % 4.800 11.520 [3¢10mZHY
ol DIMa-2(HHE) | 6.0 | % 4.800 2.880 [310mZL)
DIMa-3A(HEHR) | 9.0 |% 4.800 4.320 [10mHY)
DIa-3B (##K) | » 16.0 | 3% 4.800 7.680 [3¢10mZL)
DIMa-4 (KHE) | 110 [% 4.800 5.280 [ 10mZl)

Hi " 132.480
CO-b(HM) | m° 102.0 | % 3.876 39.535 |3¢10mY)
DI-b(HtH) | » 108.0 | % 3.876 41.861 [¢10m&HY
DIa-1(HHE) | 240 |% 3.876 9.302 [3%10mZl)
J4)La—#t | DMa-20H) | # 6.0 |% 3.876 2.326 |3¢10m=%Y
PRI uzmpe ) DIMa-3ACHEHD) | 9.0 |% 3.876 3.488 |3%10m4Y)
DI a-3B (##H) | # 16.0 | % 3.876 6.202 [3¢10mZY
DMa-4 (KHE) | 110 [% 3.876 4.264 [X10mHY)

Hi " 106.978
CI-b(#%#) | m 1010 |% 100 101.0 |3¢10mZ L)
DI-b(HH) | » 107.0 [% 100 107.0 |¢10mZ Y
DMa-1(HHE) | 240 |% 100 24.0 [10mHY)
BEENITVVE | DIla-2 (M) | » 6.0 % 100 6.0 [3¢10mY)

¢ 300 3

A [Dma3AGgH) | » 85|% 100 8.5 |X10m=HY)
DIa-3B (##K) | # 160 |% 100 16.0 |>X10m% Y
DM a4 (HtH) | 105 |% 100 10.5 |3 10mY

Hi " 273.0
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15—4 HKIBEEHR

SRERTIE 15-45 S8
ERrM-YE(EX 15-16~20 S8
wo | RREFT | BEHY | o =
| i | A Py Ny —] =
A 7K B& 200 & 5420 [ 3% 10.00 542.00 [10mZY)
HWLaAVY)—b | 0= 18N/mm? m° 5420 [ 3% 0.400 21.680 [>¢10mY)
— B OB HLE 2 5420 [ 3%  2.00 108.40 |3 10mY)
S BELAIL 1:3 2 5420 |%  300| 162.60 |3%¢10m%yY
w®#l m® - - 85.868 |15-105: 8
= " — — 44.305 [15-115H8
% A A H=250 | & 5420 [ 3% 10.00 542.00 |3¢10mL)
e B HLaAvs)—b | 0= 18N/mm? m° 5420 | % 0.112 6.070 [>¢10mY
i B | LB 2 5420 [%  1.00 54.20 |%10m4 L)
BEILZIL 1:3 m2 5420 | % 062 33.60 [>¢10m%Y
EEE CIO-b(##H) | m3 25| 3¢ 6.000 12.000 |X1ERALHY
RVIFLVE -
G150 AE it " 12.000
CI-b(#%H) | m3 2 Fr| % 1.800 3.600 [>¢1EFTHY
DI-b(iEH) | » 20 AT ¢ 7.650 15.300 <1 YY)
FVIFLVE
®100  |pma-sacigsm)| » 1A% 7.700 7.700 [ 1R LY
|mALE
DIla—4 (M) | 1A% 7.700 7.700 |3 1EHFFHY
FERTHEK T -
&t " 34.300
CIO-b(HH) | m® 25| 3% 1.155 2.310 |X1EFTYY
DI-b(iEH) | » 2 A€ 1.008 2016 |>X1E AT HY
S —
DIMa-3A(HH) | 18 A% 1.008 1.008 |X1EAHY
DIMa—4 (M) | 1A% 1.008 1.008 |X1EAHY
£t 7 6.342
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15—5 HKIMEEHR

SRERTIE 15-45 S8
ERrM-YE(EX 15-16~20 S8
wope | TREFT | BAINYY | & =
| H | 3 .= vy =
CO-b(Ht) | 280 F| 3% 1.010 2.020 |X1EFTYY
DI-b(HH) | » 20 F| % 0.934 1.868 DX 1EFTHY
7’()1/9_1:1 R Sk =, B PR =
DIMa-3A(i&HE) | 18/ 2% 0.934 0.934 [X1ERTHY
DIla—4 () | 18&Fr % 0.934 0.934 |X1ERTHY
£t 7 5.756
R HEK T — PyTR——
CI-b(H) | & 2 Fr| % 1.000 2.000 [>¢1EFFHY
DI-b(iH) | » 2@ | 3¢ 1.000 2.000 [X1EFTYY
EhGE —
5 Iomasadg) | 157 3% 1.000 1.000 1 &R HY
DITa-4 (KEH) | » 18/ %  1.000 1.000 [X1ERALY
=t " 6.000
& 7k ¥t 200 H 106 | 3% 1 10 |X1EArHY
BLIAVYY—b | 0= 18N/mm?| m° 106/ 3% 0.036 0.360 |31 EATHY
B HLER | m? 106/ 3¢ 0.26 2.60 [X1EFTYY
£ K #| BELRL 1:3 m2 108 Fr| %%  0.24 240 [X1EFRrYY
ROV —> T-25 ® 108 Ffr| 3% 1 10 |X1EAr Y
- m® - - 3.091 [15-185: 68
B R 7 — — 1.776 [15-195 88
% A A H=240 | {& 108 Ffr| 3¢ 1 10 |X1E AR Y
e B BLAVI)—b | 0= 18N/mm?| m® 108 Fr| 2% 0.009 0.090 |1 RTHY
i B | LB 2| jommi|x% o008 0.80 | X 1EFT4Y
BE LRI 1:3 2 108 /| % 0.05 0.50 [X1ERLY
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15—6 FRBEIKI(COI-b~DMaXfE)BEhihE

A N—EL
A N—rFY

800

JANE—#
BHERT S-30

EEERYIFLLEGI0

E-E R
. -3*“6 ' |
ch i HE K Tk 10m4Y)
2 HO® B #® 2 wm =
T4ILE—H BHHRA S-30 | m° 3.876
EEENIFLVE ¢ 300 m 10 BHE
(1) 10mHY
1) {EH|
V= 1/2 % (0.800+0.400) X 0.800 x 10.0m = 4800 m*/10m
2)74IL3—%4
V= 4.800— 7t X0.1715% X 10.0m = 3876 m°/10m

NEFERIIFLUE($300 HAE)
L= 10 m/10m
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15—7 EHEEHEMAEE

500
150

AN —REL A nn—rEHY

| 100 |

300
900

EREM AR 1Ty
% HO® Hf % = B =
EinE ® 300 £ 1
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15—8 fiBHuHE

360

140 220

80 . 140

CIE O = =
sl g 39]4;?5_0_ & gl 2
g 0 0
HBIEM LR 10m4 L)
£ FR BROo% (BN B OE W =
ARz K& 200 1& 10 L=1000
HLar)—bk | 0,218N/mm?| m® 0.400 =100
BB o] Wil 2 2.00
BEILZIL 1:3 2 3.00
BaMEx 10m3Y)
£ FR BOo%  |BL & B W =
& A B H=250 | & 10.00 L=1000
HLavg)—bk | 0,218N/mm?| m® 0.112 t=100
BB 3] Ui o 2 1.00
BELZIL 1:3 m2 0.62
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A UN—FEL

450

BEERUIFLUE QSIS0
(F# %)

375

550

100 75
175

J40L8—#
HuERE $-30

MK I MR (N FEL) 10m=s )
% R Mo BN B E wm =
T4 —# | BHRBA $-30| n’ 1.684
ESEEN IFLE ® 150 m 10 BFHE

(1) 1omHBYHKE
1) #EHl
V= 1/2x (0. 450+0. 250) x 0. 550 x 10. Om = 1.925 m’/10m

2) T4ILE—#
V= 1.925— 7t x0. 08752 % 10. Om = 1.684 m’/10m

3) BEERYVIFLUE (0150 HHE)
L= 10 m/10m
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- UN—FrFY

320

T4 ILE—%
HHERA S-30

375

525

100 50
150

EEERYIFLUE G100
(EALE)
BRI MER (A 2/\—FkFY) 10m v
£ G BHO® |BEE #H% = W =
T4 E—# | BHiRA S-30| nd 1.557
SEREN IFLVE ¢ 100 m 10 EILE
(1) 10m¥ Y #H=
1) #EHEI
V= 0.320x0.525x10. Om = 1.680 m’/10m
2) T4ILE—#
V= 1.680— 7t x0.06252% 10. Om = 1.557 m’/10m

3) BEERUYIFLUE (100 EFLE)
L= 10 m/10m
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(4) EIHOKITIEMRYYHE

- SFE L= 3.000+3. 000

12 Hil V=1.925 x 6.000 x 1/10

T4 L3 —% V=1.684 x 6.000 x 1/10

B4 T (BEERYIFLUE 6150 HHE)
(CI-b) L= 3.00+3.00

B4 T (BEERYIFLUE 6100 EAE)
(CI-b) L= 0.90+0. 90

B B B N= 1.000 &

_50_

6.000 m

1.155 m’
1.010 m’

6.000 m

1.800 m



(4) EIHOKITIEMRYYHE

- SWE L= 3.000+3. 000 = 6.000 m
i il V=1.680 x 6.000 x 1/10 = 1.008 m’
T4 ILA—H V= 1.557 x 6.000 x 1/10 = 0.934 nm
k4 T (EFERI)IFLUE 6100 EALE)

(D I-b) L= 0. 85+3. 00+3. 00+0. 80 = 7.650m
(DI a) L= 0.90+3. 00+3. 00+0. 80 = 7.700m
E & B N= 1.000 {&
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15—9 fAIBERTHESRE

WREEE 15- 3 S
mElE 15-14,15 S8

y 442 3F LS 5 =
@ | RER mEHE B B =
m (m”)
11.000 | (A) 0.308 3.388
6.000 | (A) 0.308 1.848
16.000 | (A) 0.308 4.928
44000 | (A) 0.308 13.552
100.000 | (B) 0.332 33.200
@ﬁ%gﬂ) 61.000 | (A) 0.308 18.788
8.000 | (A) 0.308 2.464
9.000 | (A) 0.308 2.772
16.000 | (A) 0.308 4928
it 85.868
et 271.000 85.868
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15—10 fAIBERIMEERETE

SREEE 15- 3 S8
mElE 15-14,15 S8

HRIER

mHYHE

&
belo

CI (m) (m®/m) (m®) 1 S
11.000 | (A) 0.155 1.705
6.000 | (A) 0.155 0.930
16.000 | (A) 0.155 2.480
44000 | (A) 0.155 6.820
100.000 | (B) 0.178 17.800

%ﬁ%g}) 61.000 | (A) 0.155 9.455
8.000 [ (A) 0.155 1.240
9.000 | (A) 0.155 1.395
16.000 | (A) 0.155 2.480
it 44.305

et 271.000 44.305

_53_




50000

15—13 EKMEGKE

50000

50000

B—-B A—A
soenn ‘ sonae
w by
o
w0, 10
T I E
R
s {soss] 4 g
"
g 2| Hlavoy—t 0. ¢ 00. s ©0. & oO. =« 0O
g ; g Gz 0. 2,90 5,90 2 0 1 ¢
w w0 |u
W w 0 ws o
w o0
EAMHEE (IEA%Y)
& " n % LR & #oE
o ) ;
Rigavry—+ ock=18N/mn’ 039
Fraw B
wenan B =
BEHKE (EFSY)
& " R o# i i w B
®RIOVY oUNA 0
EY EPVIENN ock=18N/an’ 012
"t 28 100
MELEL 13 065

BELSL
()
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15—14 SKBHEHITHEELET K

WREE(E 15- 4 S
mYYEIE 15-20 BB
" MRER f L | H =
0 (A) 0.531 0.000 MIERTQE)LHY
0 (A) 0.531 0.000 X1EFrE)HY
0 (A) 0.531 0.000 MIERTQE)LHY
1 (A) 0.531 0.531 M1EATQE)LHY
2 (B) 0.749 1.498 M1ERTQE)LY
@ﬁ%gﬂ) 2 (A) 0.531 1.062 M1EATQE)LHY
0 (A) 0.531 0.000 M1ERTQE)LY
0 (A) 0.531 0.000 M1EFrE)HY
0 (A) 0.531 0.000 M1ERTQE)LY
B 3.091
Hwast 5 3.091
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15—15 SEKKMEBERINERETE

WREE(E 15- 4 S
mBYEE(E 15-20 SEB
" MRER f L | H =
0 (A) 0.300 0.000 XIBEFAT(E)HY
0 (A) 0.300 0.000 X1EFrE)HY
0 (A) 0.300 0.000 XIBEFT(2E)HY
1 (A) 0.300 0.300 M1ERrE)HY
2 (B) 0.438 0.876 XAERTQE)HY
i 4% X S 1T sl
D) 2 (A) 0.300 0.600 >:<1 ,.E,J fﬁ(zﬁ)é )
0 (A) 0.300 0.000 M1ERTQE)LY
0 (A) 0.300 0.000 M1EFrE)HY
0 (A) 0.300 0.000 M1ERTQE)LY
5 1.776
Hwast 5 1.776
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16—1 ERFE

R THERIFE
S XRE (F A8 #A£-2.000% A+2.000%)
DIla-4(##) L = 10.192+0.808 = 11.000
P9
DIla-2(#M) L = = 6.000
DIla-1(#ME) L = = 16.000
DI-b(&#H) L= = 45,000
CI-b(##) L= = 102.000
DI-b(#&H) L= = 63.000
DIIa-1(#EM) L = = 8.000
YMa-3A(KEH L = = 9.000
YIMa-3B(#4 L = 15.307+0.693 = 16.000
P9
& &t = 276.000
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16—2 BT+ THEEE

HRERE 16-2 S
mEYKE(E 16-7 S

moa | @ om |mg| TEER spaumz)l w2 | B oz

ga Az T m? 276.0 - 1,672.6

(EiR) =t " 1,672.6

gRAE T t=0.214m | m° 276.0 - 357.4 |KizREEE

(3iL%8) =t " 357.4

& Hi m’ 276.0 - 73.7 [16-155H8
%
BT & " 73.7
. B+ m° 276.0 — 17.39 |16-16588

17.39

_58_




16—3 BBEIKEEHR

WREEE 16- 2 S8
(1) b JLER mAYEE(E 16- 7.8 S
e SE-¥112 ot e v o
moa | @ om |mg| TEER spaumz)l w2 | B oz
a9 51—k pi- m?2 276.0 1,672.6
i (t=150) £t " 1672.6
_ REDD m” 276.0 1,672.6
707’%‘:'_ 5 " 1672.6
1.26L/m? L 2,107.5
EAEER m? 2640 | 3% 47544 1,569.0 [3¢ 8m=y)
ﬁ% ﬂ ‘J.IJ.J Evd Febe = NV NV febe = \:L
D650 150 | S B " 20| % 35540 711 [X 1ERTHY
B " 1,640.1 | (98m2/100m2)
n EAEER kg 264.0 | % 93 3,069 [ 8m¥%l)
WEEH T wm | 28| % 69 1380 [X_1E@ATHY
&t " 3.207 | (0.19t/100m2)
4t B #h m 276.0 | X 8.000 276.0 |3¢ 8m¥l
a RIS Bith " 552.0 | ¥ 8.000 552.0 |3% 8m34Y
(,J‘!ff,f_géﬁm " 23| X 6.060 139.4 | X 18IAT4Y
ety | 1EFT| % 6.060 66.7 | 1EFTH4Y
$%548 1640.1m2/1672.6m2(98m2/100m2)
oAk AS 3.207t/1672.6m2(0.19t/100m2)
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(2) FYDFE GEEmED

HRERIE

16- 1 S8

mA YRS 16- 9,10 SEB

moa | @ om |mg| TEER spaumz)l w2 | B oz
FYDIThR m? 1| %  30.300 30.3 % 1K Y
B’ T t= 0.214m m? 1®| %  30.300 30.3 [ 1KY
IVHY—-EEEE [ t=0.150m | m° 15| % 4545 45 % 1KY
i) B m? 1| X% 2.550 26 % 11y
2 1| %  30.300 303 % 1 HY
ByHa—k il = z
0.43L/m? L 13.0
4+ YD I1ER it B th m 1| X 5.000 50 [% 1 &Y
Bt AR | o 17| % 6.997 70 |3 1=tHyY
&% ] SD345D13 | kg 1| ¥ 315 315 3% 1KY
FRAI7ILNEE| RIE (t=50) | m? 1=%| %  30.300 30.3 [ 1Y
g 2=l
39U DI+ B #h (it B ith) #it B b 10m|5+5
2V ES4N - 127K/5m (24004 /1000m)
FTYDITEH (EEHEEH) #EB i 14m|7+7
$£85D13 315kg/30.3m2(1.04t/100m2)
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(3) FYDIFH (#&mdAD

HRERIE

16— 1 S

mBYEE (L 16-11,12 S8

N RIER

L oA | B (m) HusYE| #H = wm =

FYDIThR m? 1| %  30.300 303 % 1xX&Y
B8 T | t=0214m | m? 1| %  30.300 30.3 [ 1LY

WY - [ t=0.150m | m? 1] X 4.545 303 X 1XHY
BB m? 1| X 2.550 26 X 1Ay

Syha—t — rrL,Z 1| %  30.300 ?23 X 1XzY
YD IR it B tth m 1 % 5.000 50 3% 1XHY
Bitt | =gwEMm | o 1| % 6.997 70 [ 1=%y

#® & SD345 kg 1| % 315 315 % 1KY

TRI7IVAEE| KRB (t=50) | m’ 1| %  30.300 303 [ 1 &Y

_6"_




16—4 BHuH=E

(1) FRILER
1RBIHE
a) R TETE
A= 6.06 X276.00
b)REETIITE (16-55 )
V=
c)EHE
t= 357.420/1672.560
2)HMETIH=E
a)ar ") —hEE%E (t=15cm)
A= 6.06 X276.00

b) 754 La—k (1.26L/m?)
A= 6.06 X 276.00

c) #k4A

1672.560 m’

357.420 m®

0214 m

1672.560 m?

1672.560 m?

TYPE-A
1 D&
= H
i
(2) pe
8 T
= i
. 8 !
38 i
- t
X i
15 13 % 150=1950 75
L 2100
SHEMHE
# 8[ &[5 s|x w|semg)ixavms] & 2 [w =

TYPE-A (138%Y

(1) D6 2100 23 0249 0.62 12

14 " 0 85 12

24 ke

TYPE-B
1) o
S — N AR | T ..
S - ity
t
;
I —— ! L2 e
o %
g & T
g =
x| 444 uiit
L= R S i . & uiit
e !
;
IEEEEI [IHEE
11111 |1 ..
i
..........
15 13x150=1950 15
2100
# 8& |8 a]*x u|somu)ixzsvme/ A % [ w =
TYPE-E (1Y
(1) | oe | zi00 2| 0240 0.62 n
(2) | » | 2230 14 4» 0.30 1

22 kg

-RER (BmAHY)

TYPE-A~B  &4%(/8m

A= (2.930 % 2.100+2.730 x 2.100) X 4

_62_
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TYPE-C TYPE-D

1985
35 12 150=1600 50

176
76|, 11x150=1650 | 50

—~
’/-\ \D Dé - ('_“) o
22w s @ w o g
= o
; T
g B
n z i EV
ko3 u
HEMHE HEHHE
% s[2 8 a[x u|wens[ixsuns X & |® = R 8le[s s u|wuna[izzoms] & ® [# =
TYPE-C (1#H%Y) TYPE-D (1 #%Y)
[©) |n5‘ 1140 | 20 | 0240 | 0.25 ‘ [} ‘ (O] ‘na | g0 ‘ 18 ‘ 224 | 0.2 | 5 |
(9 | o ‘ 1750 | 13 | - | 0.4 ‘ 6 ‘ @ ‘ " | 1540 ‘ 12 ‘ “ | 038 | 13 |
12 ke 10 ke

-Im &R (1R Y)
TYPE-A~D  (A-2#%. B-3#&. C-1#%. D-1%&)
A= 2930 % 2.100 X 2+2.730 X 2.100 X 3+1/2 X (1.985+0.293)
X 2.930+1/2 % (1.776+0.200) X 2.730 = 35540 m’/fEmR

_63_



d) ¥Rk AR

AR (8BmAY)
D13 x 7800 N=12K
W= 7.800m X 0.995kg/m X 127
-im R (1ERTEY)
D13 X 5820 N=127
W= 5.820m X 0.995kg/m X 124
e) #it B ih
L= 8.000 m/8m
f) B8 B ith
HRER L= 276.000 x 2
= 552.0 m
L= 8.000 m/8m

g) INiE Bt (hv2—B i)

L=
L=

h) i B #h (RE & B ith)

L=

6.060 m/1EFT(EZEED)
6.060 m/1ERT(mER)

6.060 m/1ERT

93 kg/8m

69 kg/1@ AT

EELZESES
& | oK~k By g | B =
B b (BomEYHEE)
ROAFERAL 1N — D22 % 1000 N 8 [(10002/1000m)
JEA B At 8x40 kg 3.20 0.4 kg/m
K&t 8 x40 m? 320 | 040 m*/m
In & B #h Hya—Bih (6.06mEBUHE)
AT IR— ® 25 x 700 PN 17
FI7— D13 x 290 1@ 34
JAR/N— D13 x 3030 kg 2412 N=87
HJORIN— D13 % 2830 kg 2253 N=8Z
JEA B itidt 8 x50 " 303 05kg/m
In & B #h &L HH (6.06mAYK=E)
Ay F18— ¢ 25x 700 P 17
FI7— D13 x 290 & 34
HORIN— D13 x 3030 kg 2412 N=8Z
HJAR/N— D13 x 2830 kg 2253 N=8Z&
JEA B st 10 x 40 kg 303| 05kg/m
BE B #h (8omEYH=E)
SEA B At 10X 40 kg 400 | 05kg/m
B # iR 10%x 110 m? 0.90 t=10mm

(112.5m2/1000m)

_64_




(2)FYDIFhR (ERENHXZY)

1BRBETHE
a) IREIE T i
A= 6.060 X 5.000
b) FEHE
t= 0214 m
2)HETIH=E
a)dvy)—M %
-HFE

A= 6.060 X 5.000

Y

V= 0.150 X 5.000 X 6.060
= 4545 m®/1EFR

t= 4.545/30.300

b) B4

I

30.300 m?/1&FR

30.300 m?/1&FR

0.150 m/1EFR

A= 0.150 % 5.000 X 2+0.150 X 6.060 % 1.1547

= 2550 m*/18&FT

c)Zvyoa—k

A= 6.060 x 5.000
= 30300 m’/1EFF

d) #it B th

L= 5.000 m/1EFRr

e)ZEEEHi

L= 6.997 m/1ERT

f) 85

W= 315 keg/1E&PRT

3) T RI7ILIEHE
a) &[E (t=50)

A= 6.060 % 5.000
= 30300 mZ/1EFF



9L DI Rt B AR (5mZt))
& MAR~Ti& =R v R B = Hm =
#SHES48—[ D29 X% 700 ¥ 12 —
BB — f% m? — 0.75
Y DIThRES E Bitdt 1EATHY (6.997mHY)
& W MAR~Ti& =R {v2 R H = m =
xoftEg18— D29 x 700 S 17 —
FIT7— D13 % 290 & 17 —
~0OX/N— | D13x3270 kg 4 13.0 0.995kg/m
~0X/N— | D13x3500 kg 4 14.0 0.995kg/m
B EER
Hik=) % R R HEuBE 1XHYEE B =
St D13 4770 16 0.995 475 76
S2 D13 3160 25 0.995 3.14 79
S3 D13 4770 16 0.995 475 76
S4 D13 3390 25 0.995 3.37 84
H 315
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(2)FYDIFhR (R RENXZY)

1)RETHE
a) IR T ETA
A= 6.060 X 5.000 = 30.300 m*/1&Fk
b) 18
t= 0214 m
2)MEINE
a)a ) — MR
-EiE
A= 6.060 X 5.000 = 30.300 m*/1&Fk
318

V= 0.150 X 5.000 X 6.060
= 4545 m/1EfT
t= 4.545/30.300 = 0.150 m/1&FT

I

b) B #
A= 0.150 X 5.000 X 2+0.150 X 6.060 X 1.1547
= 2550 m’/1EfR
c)Zvyoa—k
A= 6.060 X 5.000
= 30.300 m®/1Efr

d) it B ith
L= 5.000 m/1EFRr

e)EEEHith

L= 6.997 m/1ERT
f) §kH

W= 315 kg/1ERT

3) 7 RI7IL G
a) & E (t=50)
A= 6.060 X 5.000
= 30.300 m?/1EfT

_67_



9L DI Rt B AR (5mZt))
& MAR~Ti& =R v R B = Hm =
#SHES48—[ D29 X% 700 ¥ 12 —
BB — f% m? — 0.75
Y DIThRES E Bitdt 1EATHY (6.997mHY)
& W MAR~Ti& =R {v2 R H = m =
xoftEg18— D29 x 700 S 17 —
FIT7— D13 % 290 & 17 —
~0OX/N— | D13x3270 kg 4 13.0 0.995kg/m
~0X/N— | D13x3500 kg 4 14.0 0.995kg/m
B EER
Hik=) % R R HEuBE 1XHYEE B =
St D13 4770 16 0.995 475 76
S2 D13 3160 25 0.995 3.14 79
S3 D13 4770 16 0.995 475 76
S4 D13 3390 25 0.995 3.37 84
H 315

_68_




16—5 BT IENEEAR
SNREEIE 16- 2 S8
mAYEE(E 16-14 SR

" NRIER mA S B =
CI (m) (m®/m) (m®) i =
11.000 | (A) 1.295 14.245
6.000 | (A) 1.295 7.770
16.000 | (A) 1.295 20.720
45.000 | (A) 1.295 58.275
102.000 | (B) 1.295 132.090
(%%%Eﬁ) 63.000 | (A) 1.295 81.585
8.000 | (A) 1.295 10.360
9.000 | (A) 1.295 11.655
16.000 | (A) 1.295 20.720
it 357.420
#wast | 276.000 357.420

3 ()R HERREZTY
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16—7 HEBEIHEAHIBERR

SNREEIE 16- 2 S8
mUYEE(E 16-17 SR

. SIARE 2=} # =
W& (T m(i:lnaj/ff)i yi(m%i m B
11.000 | (A) 0.267 2.937
6.000 | (A) 0.267 1.602
16.000 | (A) 0.267 4.272
45000 | (A) 0.267 12.015
102.000 | (B) 0.267 27.234
(%2%#%&3) 63.000 | (A) 0.267 16.821
8.000 | (A) 0.267 2.136
9.000 | (A) 0.267 2.403
16.000 | (A) 0.267 4.272
&t 73.692
#wast | 276.000 73.692

3 ()R HERREZTY
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16—8 BBIMITHEETR

SNREEIE 16- 2 S8
mUYEE(E 16-17 SR

. SIARE 2=} # =
W& (T m(i:lnaj/ff)i yi(m%i m B
11.000 | (A) 0.063 0.693
6.000 | (A) 0.063 0.378
16.000 | (A) 0.063 1.008
45000 | (A) 0.063 2.835
102.000 | (B) 0.063 6.426
(%i;%*%gﬂ) 63.000 | (A) 0.063 3.969
8.000 | (A) 0.063 0.504
9.000 | (A) 0.063 0.567
16.000 | (A) 0.063 1.008
&t 17.388
#wast | 276.000 17.388

3 ()R HERREZTY
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17—1 ERHFAE

R X (FAB2 A£-2.000% £H+2.000%)

DITa-4 (HHR) L = 10.192+0.808 = 11.000
1P
DIMa-2(#4) L = = 6.000
DITa—1 (444H) L= = 16.000
D I —b (#448) L= = 45.000
C T b (48) L= = 102.000
D I —b (#48) L= = 63.000
DIla-1(#M) L = = 8.000
YT a—3A (4% L= = 9.000
YT a—-3B (#4% L = 15.307+0.693 = 16.000
i
& &t = 276.000
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17—2 I IHMEEHER

B oA = B = wm o =
gt ERIEESER m” 161.010 [17-33 8
(t=7cm“)' EBRIEESER " 157.872 [17-85 18
&t " 318.882 | *0.07=22.3m3

ERIEESER m” 154.692 [17-43 8

iy EREESH | 153558 | 179518
it " 308.250

ERIEESE m® 45.630 [17-55 8

X BRIEESER " 62.292 [17-105H8
it " 107.922

ERIEESE m? 158.802 [17-65 M8

. R LREESE " 156.216 [17-115H
it " 315.018
1.26L/m’ L 396.923

ERIEEESE m? 163.116 |17-73 88

cETLEF GRIEEESER " 159.528 |17-125 8
&t " 322.644

ERIEESER BT 102 [17-135 88

IR #E B ih GRIEEESER " 100 [17-1338 8
&t " 202

0.44kg/m 102%0.29=29.58m, 100%0.32=32.00m & 5161.58m

EZRIEESER LR 9 [17-135:88

f&z5k B ih ERIEESER " 9 [17-138 8
&t " 18

18%0.05=0.90m2/276m (3.26m2/1000m)

(7)) 9%0.666=5.994m. (£)9*0.737=6.633m

EBEH5112.6327m
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17—3 EREESHRHEEEETR

(1) aA9")—hrEE%E (t=7cm)

SMREEIE 17-1 S8
mUYEE(F 17-14 S8

HRIER

mHBYHE

-

belo

S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.583 6.413
6.000 | (A) 0.583 3.498
16.000 | (A) 0.583 9.328
45.000 | (A) 0.583 26.235
102.000 | (B) 0.584 59.568

(%i";%gﬁ) 63.000 | (A) 0.583 36.729
8.000 | (A) 0.583 4.664
9.000 | (A) 0.583 5.247
16.000 | (A) 0.583 9.328
it 161.010

wEst 276.000 161.010

3 ()R HERREZTT
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(2) P& (t=10cm)

SMREEIE 17-1 S8
mUYEE(F 17-14 S8

" HMRER mHYEE B =
S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.559 6.149
6.000 | (A) 0.559 3.354
16.000 | (A) 0.559 8.944
45.000 | (A) 0.559 25.155
102.000 | (B) 0.563 57.426
(%%%Eﬁ) 63.000 | (A) 0.559 35.217
8.000 | (A) 0.559 4.472
9.000 | (A) 0.559 5.031
16.000 | (A) 0.559 8.944
it 154.692
wEst 276.000 154.692
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SMREEIE 17-1 S8

(3) BB+ mUYEE(F 17-14 S8
" HMRER mHYEE B =
S (m) (m®/m) (m®) 1 S
11.000 | (A) 0.162 1.782
6.000 | (A) 0.162 0.972
16.000 | (A) 0.162 2.592
45.000 | (A) 0.162 7.290
102.000 | (B) 0.171 17.442
(%%%E}) 63.000 | (A) 0.162 10.206
8.000 | (A) 0.162 1.296
9.000 | (A) 0.162 1.458
16.000 | (A) 0.162 2.592
it 45,630
wEst 276.000 45.630

3 ()R HERREZTT
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(4) FS5A4La—k

SMREEIE 17-1 S8
mUYEE(F 17-14 S8

HRIER

mHBYHE

-

belo

S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.575 6.325
6.000 | (A) 0.575 3.450
16.000 | (A) 0.575 9.200
45.000 | (A) 0.575 25.875
102.000 | (B) 0.576 58.752

(%i‘;?%gﬁ) 63.000 | (A) 0.575 36.225
8.000 | (A) 0.575 4.600
9.000 | (A) 0.575 5.175
16.000 | (A) 0.575 9.200
it 158.802

wEst 276.000 158.802

3 ()R HERREZTT
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SMREEIE 17-1 S8

(5) FmiEIF mUYEE(F 17-14 S8
" HMRER mHYEE B =
S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.591 6.501
6.000 | (A) 0.591 3.546
16.000 | (A) 0.591 9.456
45.000 | (A) 0.591 26.595
102.000 | (B) 0.591 60.282
(%%%Eﬁ) 63.000 | (A) 0.591 37.233
8.000 | (A) 0.591 4.728
9.000 | (A) 0.591 5.319
16.000 | (A) 0.591 9.456
it 163.116
wEst 276.000 163.116

3 ()R HERREZTT
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17—4 GREESHRHEEEETR

(1) aA9")—hrEE%E (t=7cm)

SMREEIE 17-1 S8
mUYEE(F 17-14 S8

HRIER

mHBYHE

-

belo

S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.572 6.292
6.000 | (A) 0.572 3.432
16.000 | (A) 0.572 9.152
45.000 | (A) 0.572 25.740
102.000 | (B) 0.572 58.344

(%%%Eﬁ) 63.000 | (A) 0.572 36.036
8.000 | (A) 0.572 4576
9.000 | (A) 0.572 5.148
16.000 | (A) 0.572 9.152
it 157.872

wEst 276.000 157.872

3 ()R HERREZTT
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(2) P& (t=10cm)

SMREEIE 17-1 S8
mUYEE(F 17-14 S8

" HMRER mHYEE B =
S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.556 6.116
6.000 | (A) 0.556 3.336
16.000 | (A) 0.556 8.896
45.000 | (A) 0.556 25.020
102.000 | (B) 0.557 56.814
(%%%Eﬁ) 63.000 | (A) 0.556 35.028
8.000 | (A) 0.556 4.448
9.000 | (A) 0.556 5.004
16.000 | (A) 0.556 8.896
it 153.558
wEst 276.000 153.558
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SMREEIE 17-1 S8

(3) BB+ mUYEE(F 17-14 S8
" HMRER mHYEE B =
S (m) (m®/m) (m®) 1 S
11.000 | (A) 0.222 2.442
6.000 | (A) 0.222 1.332
16.000 | (A) 0.222 3.552
45.000 | (A) 0.222 9.990
102.000 | (B) 0.232 23.664
(%%%Eﬁ) 63.000 | (A) 0.222 13.986
8.000 | (A) 0.222 1.776
9.000 | (A) 0.222 1.998
16.000 | (A) 0.222 3.552
it 62.292
wEst 276.000 62.292

3 ()R HERREZTT
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(4) FS5A4La—k

SMREEIE 17-1 S8
mUYEE(F 17-14 S8

HRIER

mHBYHE

-

belo

S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.566 6.226
6.000 | (A) 0.566 3.396
16.000 | (A) 0.566 9.056
45.000 | (A) 0.566 25.470
102.000 | (B) 0.566 57.732

(%i‘;?%gﬁ) 63.000 | (A) 0.566 35.658
8.000 | (A) 0.566 4528
9.000 | (A) 0.566 5.094
16.000 | (A) 0.566 9.056
it 156.216

wEst 276.000 156.216

3 ()R HERREZTT
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SMREEIE 17-1 S8

(5) FmiEIF mUYEE(F 17-14 S8
" HMRER mHYEE B =
S (m) (m%/m) (m?) 1 S
11.000 | (A) 0.578 6.358
6.000 | (A) 0.578 3.468
16.000 | (A) 0.578 9.248
45.000 | (A) 0.578 26.010
102.000 | (B) 0.578 58.956
(%%%Eﬁ) 63.000 | (A) 0.578 36.414
8.000 | (A) 0.578 4.624
9.000 | (A) 0.578 5.202
16.000 | (A) 0.578 9.248
it 159.528
wEst 276.000 159.528

3 ()R HERREZTT
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18—1 LiMIHMEER
T iE|FE Al |+ Al BAL | Al =L it b
22— b o=24N/m?| m 71. 481 49.670 | 121.151
egR | A1 @ m? 93.198 71.396 | 164.594
il P —fERR | m 123.741 | 119.740 | 243. 481
il D29 kg 6,710 730 7. 440
P | D25~D16 | = 2,988 8, 803 11, 791
SD345 D13 " 239 208 447
=t " 9,937 9, 741 19, 678
| 2| 152.407 | 133.076 | 285.483
28T 1“+ ‘; Hhm
5 " 94. 411 75.789 | 170.200
23 + m 313.7 66.5 380.2
+ T —
13 = " 308. 9 288. 8 597.7
a2 )— k| o =18N/mn’| m 104. 06 104. 06
1) | — 1] +h 2
141 % yg i) 2 oy e m : 83. 47 83.47
BT P o#8 | #n 48. 05 48. 05
B " 35. 42 35. 42
avy = o=18N/m?| m 153. 38 153. 38
B (5 P —iBg | o 32.73 32.73
B T | # # |#H 32.73 32.73
a9 U— b o=18N/mm?| m® 6.93 6.93
il Pr| —HREIR 2 8.77 8.77
F DR i
58T #?# 8| #m 3.45 3.45
B E " 4.02 4.02
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(2) pifEE GERAD %

1) oo —+F
Vi (EEEARIKER)

Vo  (ERIHAN 94-0)

Vo (HEAN 94-0)

IV (2K)

2) B
A (EERERAERETE)

A, (EERGHREE)

As  (EIEEA{REREIE)

Ay (ERIYAE 91-0)

As  (ERIHAN 91-0)

IA (2K)

(120.092 x 8.660 — 1/2 x 4.134
—1/2 x 4.850 x 2.800 — 1/2 x
+ 10.459 — 55.5612 — 5.239 ) x

71.481 m°
( 0.000 x 0.000 — 1/2 x 0.000
+ 1/2 x 0.000 x 0.000 x 0.000

NOFER
0. 000 m®
(0.000 x 0.000 — 1/2 x 0.000
+ 1/2 x 0.000 x 0.000 x 0.000

TN FER
0. 000 m*
71.481 4+ 0.000 +  0.000

20.092 x 8.660 — 1/2 x 4.134 x
—1/2 x 4.850 x 2.800 — 1/2 x
+ 10.459 — 55.512 — 5.239

102. 115 m?

102.115 — ( 73.192 — 55.512 —
x4 X2

104. 404 m?

x 7.160

0.000
0.700

X

X

x 0.000

0.000 ) x 0.000

0.000 ) x 0.000

= 71.481 n’

1.160
0.000

o2l
NS
(o)
©

[~}

x 0.000

( 1.500 + 5.531 + 5.860 ) x 0.700 ) x 1.1547

10. 420 m?

#E

( 0.000 x 0.000 — 1/2 x 0.000 x 0.000 )

x 2 + 0.000 x 0.000

— 0.000 x 0.000 + 0.000 x 1.41421 X

0. 000

INTFER

0 m?

( 0.000 x 0.000 — 1/2 x 0.000

x 2 4+ 0.000 x 0.000

X

— 0.000 x 0.000 + 0.000 x 1.41421 X

0.000 )

0. 000

N FER
0m
102.115 4+ 104.404 + 10.420 +
216. 939 m?
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a) 1EREEP (FTE)

A= 102.115 — 8.917
x5
= 93.198 m’
b) & (&HmA)
A= 216.939 — 93.198
= 123.741 m’

3) #8 (GRETRIZ&KY)

D29 e e e e e 6,710 kg
»D25~D16 - o+ r 2w e e 2,988 kg
D25 : 0 kg
D22 : 1,297 kg
D19 : 329 kg
D16 : 1,362 kg
“DI3 0 s e e e e e 239 kg
B 9,937 kg
4) Bi5T

a) BIE (#4)
A = 20.092 x 8.660

—1/2 x 0.000 x 0.000
= 152 407 #n’
b) ¥@m (BE)
A (41F9) = 152.407 — ( 713.192

= 89. 674 #m’
c) fEIE (BE)
A, (H1F9)

= 4.737 #im’
89.674 + 4.737
= 94 411 #hn?

IA (HE2K)

XSEHE
X1: WrEm DMa 4 /\— FEHI
¥2: " NZEEE
X3! " A N—Fravy)—Fk
%4 " 245\ FAmE
X5 " e R TR E
%6 " 0 = EEE
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x4

( 0.000 + 5.860 )

—1/2 x 4134 x 7.160 — 1/2

— 10.459

x 0.700

9.058
48.075
4.537
63. 386
8.917
14.730

X X X X

4.850 x 2.800

1. 1547

Lk

Lt

1.1547 = 10.459
1.1547 = 55.512
1.1547 = 5. 239
1.1547 = 173.192



NZEWEE

R1= 4.160
R2= 8. 320
R3= 9.130
R4= 1. 000

81=__10.1580307
82=_21.9977792
83=__57.8441901

L1=_ 3.0452594
- L2=__ 3.4198301
L3=__ 4.1600000
Hi=__ 6.2471400
H2=__ 1.2909828
H3=__ 0.9271984

H4=  8.4653212

L %
Vi = m xR12x180° /360°
= 7 x 4.160% x 180° /360° = 27.1835729
T #

Vo, = 7 xR2%x 61/360° x2+1/2x (L1+L2) xH2x 2
= ( 7w x 8320% x 10.1580307° /360°
+ 1/2 x ( 3.0452594 + 4.1600000 ) x 1.2909828

~ 41600000 x 1.2909828 ) x 2 = 10. 8334032

V; = 1/2x (L14L2) xH3x2
=1/2 x ( 3.0452594 + 3.4198301 ) x 0.9271984 x 2 = 5 9944206

V, = 7 xR4®x 63/360° x2
= 7 x 1.000%2 x 57.8441901° /360° x 2 = 1.0095716

Ve = (7 xR3%x 02/360° —1/2xL2xH4) x2
= (71 x 91302 x 21.9977792° /360°

— 1/2 x 3.4198301 x  8.4653212 ) x 2 = 3. 0535607
Ve = Vp~Vs
= 10.8334032 + 5.9944206 + 1.0095716
+  3.0535607 = 20.8909561
& &
V = 27.1835729 + 20.8909561 = 48.0745290
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R ERYE

20002 (17400)

10623 9459
@260 (8200)
4619 ) 4850
FEE] #2060
| Y ¥) BEHD
v184. 367 o
V183,897 vis4.671 =
=
L& 2l g
| v182.742 g =
V181.871
™
5]
2
= 2
2 2
g
3
2
=
2
=
b=
]
v176.011
~
Q
=
g
VIM. 000 B F
g
13 & deds |
A=8. 9|l Tm = ES
o, | v172.011 =
4134 1255 5234 5234 4235
(35800 T (4533) 4543) (3667)
20082 (17490)
659 2656 4 3695
571 2305 50 3200

A =

A = 14.730 m

0.

000

8.917 m’
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5) £T GEmMAD

Parand

=

L2 = A
BT E L & i B B R s

m m v v

1—1 0.0 2.4

2—-2 5.623 0.0 0.0 36.9 110.5

3—3 5. 000 1.9 19.8 0.9 94.5

4—4 5. 000 40. 4 120.8 10. 6 28.8

5—5 4.815 31.5 173.1 20.6 75. 1

a B 20. 438 313. Tfim 308. 9(jm
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= PR

ol

T

avyy—+k Eid 7
. J=1 fil H
B 5 Y
//\I] N EE %ﬁ (m)
Br m SO S B = B m E Y B = [iz1] E Y o =
2 — 2 5. 860 12.69 10.18
3 —3 5.304 5. 860 12. 69 12. 690 67. 31 10. 18 10. 180 53.99
4 — 4 2.896 5. 860 12.69 12. 690 36.75 10.18 10. 180 29.48
=1 B 8.200 m 104. 06 ° 83.47 m?
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= PR

ol

T

BI5T (#48) BIGT (BEIER)

\ A H
B 5 1
AR oo (m)

i SO ) B B B @ SO ) W E i 1y M B
2 — 2 5. 860 5. 86 4.32
3 -3 5.304 5. 860 5. 86 5. 860 31.08 4.32 4. 320 22.91
4 — 4 2. 896 5. 860 5. 86 5. 860 16. 97 4.32 4. 320 12.51
& & 8.200 m 48.05 #m’ 35. 42 fm?
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X E-0

ol

Tk

=
avHy—+ B # RIBT (#40)
A= R ()
v E | T | s e |(wE| Ty | wne |s&@| Ty | us=
4.000 20. 39 4.00 4.00
1 1 0.577 4.000 20. 39 20. 390 11.71 4.00 4.000 2.31 4.00 4.000 2. 31
2 2 0. 808 4.047 20. 69 20. 540 16. 60 4.056 4.025 3.25 4.05 4.025 3.25
4.704 4.320 20. 69 20. 690 97.33 4.32 4.185 19. 69 4.32 4.185 19. 69
3 3 0. 600 2. 355 8.37 14.530 8.72 2.36 3. 340 2.00 2.36 3. 340 2.00
1.635 2. 450 8.37 8.370 13. 68 2.45 2. 405 3.93 2.45 2. 405 3.93
4 4 1.262 0.000 0.00 4.185 5.28 0.00 1.225 1.55 0.00 1.225 1.55
& &t 9.586 m 153.38 32.73 n? 32.73 ]
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EhBEE

ol

Tk

B=
avyy)—+k Ei] g3
N J=1 f] H
N 5 '’
AR BB (m)
m| T o W 2 Wom | T M M B b5 1 =

4 — 4 4. 600 8. 65 9.96

1,500 0. 800 0.59 4. 620 6.93 173 5. 845 8.77
& & 1500 m 6.93 i 8.77

_93_




EhBEE

ol

B i %

=

=
RBIHT (F4R) BIGT (BEIERD)
N =1 fil H
AR 5w (m)
iz Ty W B ¥ @& oty ¥ B b 15 2

4 — 4 4. 600 4. 60 5. 36

1.500 0. 800 0.00 2. 300 3.45 0.00 2. 680 4.02
& &t 1.500 m 3. 45 Hm? 4.02 #im?
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(2) miFEE (RRA) BEFHE

1) avyy—+
Vi (EERRHEE) = (17.667 x 8.660 — 1/2 x 5.023 x 2.986
— 1/2 x 3.787 x 6.560
+ 10.459 — 55.512 — 5.239 ) x 0.600
X1 X2 X3
49.670 m’
V, (@I 9+-1) = ( 5500 x 4.150 — 1/2 x 3.150 x 4.500 ) x
+ 1/2 x 0.400 x 0.400 x 4. 150
N T ER
6.627 m°
IV (&) 49.670 +  6.627 = 56.297 m’
2) B
A, (EEEAIAEPETE) = 17.667 x 8.660 — 1/2 x 5.023 x 2.986
— 1/2 x 3.787 x 6.560
+ 10.459 — 55.512 — 5.239
X1 X2 X3
82. 784 m?
A, (EEEAGKEHE®E = 82.784 — ( 73.192 — 55.512 — 5.239 )
x4 X2 3
= 70. 343 m?
As  (EEEAGAEREIE) ( 5.760 + 2.100 ) x 0.600 x 1_4?7
5. 446 m’
Ay (RN 90 = ( 5,500 x 4.150 — 1/2 x 3.150 x 4.500 )
X 2 4+ 1.000 x 0.400
— 0.400 x 4.150 + 0.400 x 1.41421 x 4.150
NOTFER
= 32. 563 m”
TA (&) 82.784 + 70.343 + 5446 + 32.563
191. 136 m?
a) 1EFEE (RTE)
A= 82.784 — 11.388
X5
= 71.396 m*
b) B# (#&EHA)
A= 191.136 — 71.396
119. 740 m’
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3) #A5 (RERIC&KY)

eD29 e e e e e e 730 kg
- D25~D16 - - s e e e - 8,803 ke
D25 : 6,865 kg
D22 : 0 kg

D19 : 943 kg

D16 : 1,395 kg
) T 208 kg
B 9,741 ke

4) BizT
a) BIE (#48)
A = 17.667 x 8.660 — 1/2 x 5023 x 2.986 — 1/2 x 3.787 x 6.560
= 133.076 #in’
b) Em (BE)
Ar (:F9)

133.076 — ( 73.192 — 10.459 )

= 70. 343 #hm’
c) HIE (HEE)

A, (HiF) = (5760 + 2.100 ) x 0.600 x 1.1547
L
= 5. 446 Hhm’
A (HE2K) = 70.343 + 5.446
= 75. 789 $itm’
XSEHE F e
X1: Wf@ DIIa A >/\— MEHI 9.058 x 1.1547 =  10.459
X2: " 7R 22 17 T 48.075 x 1.1547 =  55.512
%3 " AUNR—kavhy—r 4.537 x 1.1547 = 5239
X4 " 25\ E I & 63.386 x 1.1547 =  73.192
Xbh: " e R R E 11. 388

— 9(3 —



NZEWEE

R1= 4.160
R2= 8. 320
R3= 9.130
R4= 1. 000

81=__10.1580307
82=_21.9977792
83=__57.8441901

L1=_ 3.0452594
- L2=__ 3.4198301
L3=__ 4.1600000
Hi=__ 6.2471400
H2=__ 1.2909828
H3=__ 0.9271984

H4=  8.4653212

L %
Vi = m xR12x180° /360°
= 7 x 4.160% x 180° /360° = 27.1835729
T #

Vo, = 7 xR2%x 61/360° x2+1/2x (L1+L2) xH2x 2
= ( 7w x 8320% x 10.1580307° /360°
+ 1/2 x ( 3.0452594 + 4.1600000 ) x 1.2909828

~ 41600000 x 1.2909828 ) x 2 = 10. 8334032

V; = 1/2x (L14L2) xH3x2
=1/2 x ( 3.0452594 + 3.4198301 ) x 0.9271984 x 2 = 5 9944206

V, = 7 xR4®x 63/360° x2
= 7 x 1.000%2 x 57.8441901° /360° x 2 = 1.0095716

Ve = (7 xR3%x 02/360° —1/2xL2xH4) x2
= (71 x 91302 x 21.9977792° /360°

— 1/2 x 3.4198301 x  8.4653212 ) x 2 = 3. 0535607
Ve = Vp~Vs
= 10.8334032 + 5.9944206 + 1.0095716
+  3.0535607 = 20.8909561
& &
V = 27.1835729 + 20.8909561 = 48.0745290
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R ERYE

17667
(15300)
5023 ‘ 3201 9353
4350 2850 8100
350 (2850) gsgr 0100 2771
(57007 (2400)
ER D ES TN
v 200. 681
= ; v200. 181 v200. 826
vz0.5% | Yy -
. o
\-<® z
| V197,639
| V193.489
5 (2750) —
= 2.000%
e LN v192. 166
v191.879
[ gy
skt
Pt Fl oo A=6]009m
350 30 17 42 1% Fhete 30
A=5.379nm’
3080 5234 5234 3 3787
7667 1533 1533 B 3282
( ) ( ) 17667 ( ) (285, ( )
(15300)
— — 2
A = 5379 4+ 6.009 = 11.388m
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5) £T (M)

Parand

5

=

=)

A
B S B iz B% #H R -
m m v v
1—1 4.7 11.1
2—2 3.314 5.1 16.2 19.6 50.9
3—3 5.000 1.5 31.5 2.6 55.5
4 —4 5.000 0.0 18.8 36.4 97.5
4 —4 4.353 0.0 0.0 2.6 84.9
= 5 17. 667 66. 5|lm 288. 8|m

_99_




19—1 HmOFMTIHEESR

HMEIE 20- 3 S8
=

- = S/ I Y/ - 72 e | B o i3] =

il

K,

#| W |L-50x50x6[ kg 995. 4 518.0 [ 1,073.4

& F B £-AbU7° b-b |AKDE50x25%1.2| kg 981.3 909.7| 1,891.0

+ o 5 1788 /m* | & 384 425 809.0| /hOAR
r & x m 94. 1 89.4 183.5
/&= " 250. 3 0.0 250. 3
W =
o)) " 372.7 322.4 695. 1
/&= " 350. 5 0.0 350. 5
+ | FKiES =
T " 107.6 484. 8 592.4
$k""‘ V7] 12. 4 0.0 12.4
FRiE B ial
T " 11.1 9.7 20. 8
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@QmAftrIHEEtE

1)§% =44 (L-50 X 50 X 6)
n= (2% 1 Xx4.710x180° /360° )/0.600 = 25
w= 5.015m/ZA& X 257 X 4.43kg/m = 5554

D5 B (F—RA b2 TFL—k: AKD 650 X 25 X 1.2)
a)BRIE w= 846 kg/m

w= 8.46/(1.000 X 0.650) = 13015
b) @R
FTHEAE=2x 1 x47725%180° /360° = 14993
THERE= 2x 1 X8.9325X% 12.9385?0" /360° = 2017
6 1= sin '(2.000/8.9325) =12.938290°
A= 14.993 X (6.102+3.256) X 1/2+2.017 X (3.256+1.963) X 1/2
= 754
c)EE
w= 75.4m” X 13.015kg/m” = 9813
3)EDSUNALER, 178/m?)
A= 19.332+3.241 = 226
N= 22.6x17 x 15| = 384
4) LH L+
A= 19.332 X (6.400+3.256) X 1/2+3.241 x (3.256+1.963) X 1/2
—384 x 0.02m>/%% = 941
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&

kg/m2

2
m°/m

2
m°/m

3!\)

N



% £ Bt | €4
W S i PR B EE (%) fEEl (#E) R{EB (X8) KiEB (&) "
m m A v A v A vV A vV
0.0 0.0 0.0 0.0
1—1 2.930 35.1 51.4 28.0 2.0 1.3
2—2 5.623 38.7 207.5 32.3 169.5 0.0 5.6 42.4 122.9
3—3 5.000 3.4 105. 3 0.0 80.8 0.5 1.3 24.3 166. 8
4 —4 5.000 0.0 8.5 0.0 0.0 12.5 32.5 0.0 60.8
5—5 4. 469 0.0 0.0 0.0 0.0 18.0 68. 2 0.0 0.0
& H 23.02 372. 7 |m 250. 3 |m 107.6 |m 350.5 |In®
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% 5 &t
BT S i i 54 FRYEB (L&) FRiEB (&) "
m m A v A v
0.0 0.0
1—1 2.930 0.0 0.0 0.0
2—-2 5.623 0.0 0.0 1.2 3.4
3—3 5.000 0.0 0.0 1.2 6.0
4—4 5.000 1.1 2.8 0.0 3.0
5—5 4. 469 2.6 8.3 0.0 0.0
a & 23.02 11.1 12.4
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@QmAftrIHEEtE

1)§% =44 (L-50 X 50 X 6)
n= (2% 1 Xx4.710x180° /360° )/0.600 = 25 K
w= 4.677m/ZA X 257 X 4 43kg/m = 5180 kg

D5 B (F—RA b2 TFL—k: AKD 650 X 25 X 1.2)
a)BRIE w= 846 kg/m

w= 8.46/(1.000 x 0.650) 13.015 kg/m?’

b) mi&
FHERE=2x 1 x47725%180° /360° = 14.993 m’/m
THEE= 2x 1 x89325x% 12.938290° /360° = 2017 m%/m
61

6 1= sin ' (2.000/8.9325) =12.938290°
A= 14.993 X (5.655+2.997) X 1/24+2.017 x (2.997+1.963) x 1/2

= 699 m’
cE=E
w= 69.9m? X 13.015kg/m? = 909.7 kg
3)EDS¢hAIER, 174/m?)
A= 18.059+5.388+1.561 = 250 m’
N= 250X 17x 15l = 425 &
4) FE T
A= 18.059 X (5.934+2.997) X 1/2+(5.388+1.561) X (2.997+1.963) X 1/2
—425x%0.02m°3/%& = 894 m

- 104 -



3) £T (RmAMAD

Parand

5

=
=

=

A
W S i PR B EE (%) KiEB (L®b) -
m m A vV A v

1—1 0.0 11.9

2—2 3.314 0.0 0.0 22.8 51.5

3—3 5.000 0.0 0.0 30.4 133.0

4 —4 5.000 22.9 51.3 42.4 182.0

5—5 4. 353 31.2 117.7 2.9 98.6

9.45 0.0 147. 4 0.0 13.7
& H 27.12 322. 4 |m 484. 8 |m
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3) £T (RmAMAD

Parand

5

=
=

A
W S i PR B R{EB (H) "
m m A vV
1—1 0.0
2—2 3.314 0.7 1.2
3—3 5.000 0.7 3.5
4 —4 5.000 0.7 3.5
5—5 4. 353 0.0 1.5
9.45 0.0 0.0
& 5 27.12 9.7
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21—1 FAIRESR

BAMEE 20-2 S8

i Al & Fr| #ErHY =| @& =
it |8 = B = - - -
BMIX W % T OB % 18 - -
I|N = Z £ B *F 18 — —
Alth X X T B % A 15 - -

Ay o HRILE

B 7181 %E
pil]

Hh e 25 4578 5E
T

WFaro)— b HBE

W7 —FXRILHBE

# £ M T B ¥ B

o X T OB X

oo B oM H OB
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ERAEERER W E R

%

FE 5 - 8 A1 BO% Efr B =E g =
15EET m 3.17 (1.o0m¥%Y)
a Y vy — b 0 ck=18N/mm2 m° 1.39 0.440
it P —h& m? 7.19 2.267
B A E  E[ELERT R40mmET =150 m? 4.60 1.450
wO® &% W SD345 D13 ke 216 6.8
25REER T m 7.20 (1.0mL)
ar o) =k 0 ck=18N/mm2 m® 2.16 0.300
it P — & m? 6.96 0.967
B A E BEERA R40mmUT =150 m’ 6.60 0.916
HoOo® 8% B SD345 D13 kg 49.0 6.8
AR E -t m 10.08
Ba 72099 7 % 35¢m m? 27.2
ZERravy)—+ 0 ck=18N/mm?2 m° 4.40
Z 2 B R BERAROmmUT | »° 9.14
15 XinT m 7.20 (1.o0m¥%Y)
ar o) =k 0 ck=18N/mm2 m® 0.86 0.120
it P — % m? 6.10 0.847
25 XimT m 1.18 (1.o0m¥%Y)
2y ) = k 0 ck=18N/mm2 m° 0.11 0.095
it P — % m? 0.26 0.224
AT m 10.08 (1.0m%EY)
v o) =k 0 ck=18N/mm2 m® 1.37 0.136
il v — % m? 4.54 0.450
B A E BEEERA R40mmUT =100 m’ 6.55 0.650
i
A — kN a4 J #EEYWAH=1.10m m 11.55
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1 ERERI % B Bt F B

‘ H—F4 7 o
(H=1100 - A F) ’
4 —
1350 300

il T
2 1000 150 )

0 = 18N/mm’

S S
N o o ERRA
N Y e = S| _t BERA
Z.O . : °0 § § ZA40mmLL T
lg% 2 2 ik VY]
- - D13 ¢tc300

1350 50
1450

( 1.0mz572Y )

# B {1 " = B E

y — K 0. 440

B 2. 267
2 OB oo 1. 450
% B ke 6.8

- 109 -




1 5 BEERIT E K W@

A R R-L £ R
NO. 16 + 5.00 fhif R 3.17
a & 3.17m
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25 BRI % B Bt F B

1@
A= R4 T
(H=1100 - #3AF) .
{n IS
1200 300

1K oL
] 1000

1000 e

0 ,,=18N/mm’

400

S S
i Sl o of & LBRE
O . o0 o | Fe S| BERE
O o0 g g #40m LT

R
D13 ctc300

150
150

o
o7 400 / +96%7

916

( 1.0mz572Y )

# B {1 " = B E

) — K 0. 300

B 0.967
2 OB oo 0.916
% B ke 6.8
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25 BERTI E K W@

A R R-L £ R
NO. 16 + 5.00 fhif R 1.20
a & 71.20m
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JOy B

-

i HE OB

Joy Y HEER

( 1.0mz572Y )

B E

1. 118 xH

0. 168 x H+0. 032

0. 391 xH-0. 039
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3 = =
Ay EpEEE o = O E &£
———_— =haosU— EARE
. P H
N =1 IF _
b [ =1 oF it (m) 1.118 xH 0.168 x H+0. 032 0. 391 xH-0.039
5| ® W B |w®@| T 8 w g |w@| FH | ue
0.100 0.112 0.049 0.000
7.200 4.150 4. 640 2.376 17. 11 0.729 0.389 2.80 1.584 0.792 5.70
4.550 5.087 0.796 1.740
1.180 4. 400 4.919 5.003 5.90 0.771 0.784 0.92 1. 681 1. 711 2.02
0.000 0.000 0.032 0. 000
0. 850 4. 400" 4.919 2. 460 2.09 0.771 0.402 0.34 1. 681 0. 841 0.71
0. 850 0.000 0.000 2. 460 2.09 0.032 0. 402 0.34 0. 000 0. 841 0.71
& 10.080 m 27.19 m? 4.40 pd 9. 14
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Kim T # H R &
200
o/ |
: / j
~N
40
( 1.0m&Ez2Y )
# H B fr = = # =
a v s 1y — o om [1/2x(0.20+0. 40) x0. 40 0.120
il #| m? [0.40+0.40x1.118 0. 847
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XRimT E Rk A

A R R-L £ R
NO. 16 + 5.00 fhif R 1.20
a & 71.20m
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Kigavo)—+k

-

it OB

950

( 1.0mzf=2Y )

# H B " = B E
a4 1y — K m 10.95%0.10 0. 095
Eil #| m? [0.10x1.118x2 0. 224
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Xigaroy—F E R &

A R R-L £ R
NO. 16 + 5.00 fhif R 1.18
a & 1.18 m
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ERT % B Bt F B

o O

o Lo Lo

Lo (ap) ™

< - =

= 000, 000 S

50 550 50
650
( 1&EHm&EEY )

# #H B " = # =
a5 1y — K m [0.35%0.55-1/2x0.25%0. 45 0.136
it #| m? [0.35+0.10 0. 450
B oA OB o 0. 650
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ERET E Rk A

A R R-L £ R
NO. 16 + 5.00 fhif R 10. 08
a & 10.08 m
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H—F4T(HEEMA)

w8

it HE S8

o
Lo
O
o
~
o
o
o o~
= o o
— N
() (ap]
Z —
o
D
©
N
............ -
o
N
( 10.0m&HF=Y )
# H B {1 = | = H E
H —FK R A4 7] m 10.000
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H—FR 1T HEEMR) E= R A E

Al R R-L TEE
NO. 16 + 5.00 4 R 3.17
NO. 16 + 5.00 4 R 8.38

=) it 11.55 m
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WRIRET ®ME £ § =
FE 5 - 8 A1 BO% Efr B =E g =
= EEEHEN T & 28.00 (1.0A8Y)
Al . K| ZEFHF ¢73mm m 379.96 13.570
Loyt E EE thig m 28.00 1.000
& 53 | HB&E$1800mm m 103.60 3.700
fE e =1l SAE{T AR (VU-H) m3 149.04 5.323
HE iE = m3 4373
R & R & RETVHA—A m3 147.20

- 123 -




WRURT W B

it B

THE - 87 - R it B = 8 =
MR T
IS
) N = 28 K
QHIFLE A ERSHE
ALY EMEAER[ A= 127+ 11.3 4+ 1.00 = 13.57
ZEHEl 11 = 1.27
mELX] 12 = 11.30
B ] 13 = 1.00
LHEIFLE[ S LA = 13.57 x 28 & = 379.96 379.96 m
@FL zy rE[EEMEOHS
1xsYIFLozvE| LC = = 1.00
7Ly bE[ZILC = 1.00 x 28 K = 28.00 28.00 m
@ERE A ERSHE
IABYBERE| LB = = 370
SERE| LB = 370 x 28 = 103.60 103. 60 m
OELHME
1AL YBIEHME g = 018 x (370 x 7.00 + 2.00) 1.06 = 5.323
ESE ERER ERER  SEERES Oox
LEEME Q = 52323 x 28 = 149.044 | 149.044 m3
CHEE
1AL YEIFBEES| v1 = 0.100 x 159.700 x 0.500 = 7.985
HHE BIFLESR  BEESE
IRLYEREES[ v3 = 018 x 370 x 7.00 x 2.00 1.10 = 5.524
WEL ESE ERR HERER TmmEs  HHEE
ALY ISy MRS vd = 018 x 1.00 x 400 x 1.10 = 0.792
EHE oivevrs  susewwm  BERE
TS rEEHEEE|] v5 = 18424 x  2.00 = 36.848
MIBH 1ALY%SE
HES V = (7.985 + 5524 + 0.792) x 28 + 36.848 = 437.276 437.276 _m3
Hll 7L peipd Tz k BIXH TS b
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MR T

B

T7% - 1385 - 3R

it

g =

¥
Gl

AR R T

DEFERIGE

IXZYEHSE

= 1.800 x

2.30 X 1.21

= 5.258

JitE T Fisf

ZER

2RERSE

= 5.258 x 28

= 147.224

147.2 m3

IR
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i/ /e
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e
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mm
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BIHERGEE) (BfI:m)
il 1 2 3 4 5 6 ot
il 28+159 | 28+18.2 | 29+05 | 29+28 | 29+51 | 29+7.4 =
MEITEMEX| 20250 20000] 200.00 19750 | 197.50 —
RS 200.83 | 19952 | 199.22 196.91 | 195.63 —
B LigEE| 19085 191.00| 191.15 191.30 | 191.45 —
B TinES| 18520 18520 185.25 18540 | 185.55 —
TiEE 1.67 0.48 0.78 0.59 1.87 5.39
HIFLE 15.63 14.32 13.97 11.51 10.08 65.51
EHE 5.65 5.80 5.90 5.90 5.90 29.15
EIEMEE| 20250 20250 20000| 20000| 197.50 —
RS 20150 | 200.31| 199.16 198.17 | 197.18 —
B EigEE| 19070 190.85| 190.90 191.05 | 191.20 —
HETiEmS| 186.25| 186.20| 186.15 186.25 | 186.35 —
TiEE 1.00 2.19 0.84 1.83 0.32 6.18
HIFLE 15.25 14.11 13.01 11.92 10.83 65.12
ERE 4.45 4.65 4.75 4.80 4.85 23.50
mEIEMEE| 20250 20250 20000| 20000| 20000 197.50 —
hEESS 202.00 | 200.67 | 199.45 19851 | 19756 | 196.62 —
B LifrEmE| 19045 19060 | 190.70 19090 | 191.05| 191.15 —
B TiHEEx| 18730 18720 187.10 187.25| 18720 187.25 —
TiEE 0.50 1.83 0.55 1.49 2.44 0.88 7.69
HIFLE 14.70 13.47 12.35 11.26 10.36 9.37 71.51
ERE 3.15 3.40 3.60 3.65 3.85 3.90 21.55
mEIEMBEE| 20500 20250 20250( 20000| 20000 197.50 —
RS 203.00 | 201.85| 200.62 199.07 | 19752 | 196.69 —
B rigEE| 19070 190.85| 190.90 191.05| 19120 191.35 —
B TimES| 18835 188.20| 188.05 188.10 | 188.15| 188.20 —
TiEE 2.00 0.65 1.88 0.93 2.48 0.81 8.75
BIRLE 14.65 13.65 12.57 10.97 9.37 8.49 69.70
ERE 2.35 2.65 2.85 2.95 3.05 3.15 17.00
mIEMEX] 20500 20500 20250( 20250( 20000 200.00 —
RS 203.80 | 20280 | 201.74 200.72 | 199.69 | 198.66 —
wREIHES| 19085 191.00| 191.15 191.30 | 191.45| 191.60 —
BB TFTig=&| 189.05[ 189.05| 189.10 189.15| 189.20 | 189.30 —
TiEE 1.20 2.20 0.76 1.78 0.31 1.34 7.59
HIFLE 14.75 13.75 12.64 11.57 10.49 9.36 72.56
ERE 1.80 1.95 2.05 2.15 2.25 2.30 12.50
N 28 |ErZ=RE 127 [&2Z=RER 35.60
EHEIALE 12.30 |2HIFLR | 344.40
THERE 3.70 [&&RE| 103.70
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